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Russian Boys: Weight, Birth - 36 Months

Date of Birth: / /
18 [ [ [ [ [ 97
Multiply kilograms by 2.2 to get pounds:
8kg x2.2=17.6 kg 90
Divide pounds by 2.2 to get kg: ///

16 +— 20.5 Ib +2.2=9.3kg / —1e= — 75

14
12

10

Weight (kg)

Initials

6
_ ] kg
/| kg
_ ] kg
/| lg

4 _ ke
/| kg
_J_J kg
_ /| ke

2 1 ] ke
_/_J ke
_J_J kg
Y kg

0 - [ [ [ [ [

0 3 6 9 12 15 18 21 24 27 30 33 36

Age (months)

Curve created using data in Mazurin AV & Bortontssov IM Mponegestuka

This curve was created in 2012 by the Forgotten Diseases Research Foundation. feTcKux BonesHel (Introduction to Childhood llinesses) 27 edition (2000)



